H & 0l & AHS B Ml A

gt

O

2024

of
i’
oF
uJ

-

KIO

Hlw

Ab,582,097

Ab,572,307

A\558,261

100,800

100,800

100,000

21,008,200
/1,008,200

1,000,000

A171,000

MEE
Ofl &k2h

23,866,558

23,490,877

14,541,134

400,800

400,800

400,000

4,108,200

4,108,200

4,100,000

501,000

Ofl &F2H

18,284,461

2,851,548

15,432,913

Al

17,918,570
2,851,548
15,067,022

13,982,873

Iy

Al

2,851,548

11,131,325

Al

300,000

300,000

300,000

150,000

150,000
3,100,000

3,100,000

3,100,000

200,000

400,000

400,000

450,000

450,000

150,000

150,000

150,000

150,000

150,000

150,000

100,000

200,000

330,000

- ESS

- SRA(E) - HIRAY

S - B

WXZ HE AL

401 AIZHIY 20

01 A=l

©

2 nEd A

WX

150,000, 000&

150,000,000&

=<
H0

H
&

2= ChH|

401 Al&HI

01 Al&H|

CH HIArY

Ok

200,000,000

400,000,000

400,000,000

[l
{H

450,000,000

OAXU=Z S 5H

450,000,000

150,000,000&

OMRZ S 5

150,000,000

150,000,000

150,000,000&

150,000, 000&

150,000,000

ol

RO
Ki

I3

i)

0]

100,000,000&

200,000,000&




A EEMEEE JgAL]
M NS EEZ2WSI |8
SRl ARIESE =2 EtE 3| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 330,000 501,000 A171,000
01 Al&H| 330,000 500,000 A170,000
OUSHEAIE X & WHAE
250,000, 0002 250,000
OYYEHR(0IBER S) HHIAE
80,000,000 80,000
C2ANE FX2el 814,480 1,216,610 A402,130
201 2= 264,480 416,610 162,130
2 S5=2g4l 264,480 416,610 /152,130
ORAWSHEINMCH HIIZBAHIE
2,500,000 8790 2 217,500
ORAWSHSIMC & dFE MRS
12,0002 %87 A% 123 12,528
ORI NS SRS
33,0003 +87 I 2xx 123 34,452
401 Al HIZL 201 550,000 800,000 250,000
01 Al&H| 550,000 800,000 /250,000
OE=2Hd FAE+At
200,000,000& 200,000
OB =5 A 350,000,000 350,000
HE0I2S7S HHAIS (HEALY) 800,000 1,625,832 N\825,832
== 400,000
Al 400,000
401 AIEHIZ SR HYI 800,000 1,625,832 A\825,832
< 400,000
Al 400,000
01 Al&H| 800,000 1,620,000 /820,000
OO0 0IES 7S AEHZAL
600,000,000& 600,000
= 300,000
Al 300,000
O==8zx5stu S 244 OB0I25 7 i
SAFS 200,000,000 200,000
< 100,000
Al 100,000
MEAOIHEZ HHIALY 300,000 250,000 50,000
= 150,000
Al 150,000
401 AlEHIZ S 0HbI 300,000 250,000 50,000
= 150,000
Al 150,000
01 AlZH| 300,000 250,000 50,000
OdEA0H=Z HH| 300,000,000 300,000
s 150,000
Al 150,000




SH: ERARIES READ
M NS EEZ2WSI |8
Rl AI2IEEHE C2EtFE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
E20Is =2 7,898 8,050 A152
201 er23 | 2,430 2,530 A100
01 AR 22| 1,430 1,530 A100
ONIBIXIZ SH5II} LA RO
2,000 * 100 +51 *00f% 900
ORI et U= 265
o=2%= 90,0002 14 0
Oogset= 100,000 14 100
Oetd st 60,0002 1< 60
Oo=9 15,0002 1 15
OS3RA(RIIH ) U= 265
oz28= 90,0003 *1 0
Oogset=s 100,000 14 100
Oetd gt 60,0002 1 60
O=R9 15,0003 %1 15
02 S3=gHl 1,000 1,000 0
O FSI| FAU
1,000,000 1% 1,000
206 M=l 468 520 AB2
01 MZH| 468 520 AB2
OUHIEY H= ANES 468
s s 20,0002 *10JH*90% 180
Octdr2 10,0003 »10JH*90% 0
Oerd &2 2,200 *1007H90% 198
305 Bia =S 5,000 5,000
01 eSS 5,000 5,000
OLSHEAIL AFDEY Hias
500,000 %102 5,000
e gerdze/(=Hl) 5,548 9,146 A3,598
=S 5,548
401 Al HIZL 01| 5,548 9,146 23,598
= 5,548
01 Al&HI 5,548 9,146 23,598
020248 NYe =9 2
5,548,000& 5,548
S 5,548
SONSHEAEE S EXI(HEAY) 360,000 530,000 A170,000
< 180,000
Al 180,000
401 Al HIZL S 0HYI 360,000 530,000 A170,000
& 180,000
Al 180,000
01 Al&H| 360,000 530,000 A170,000




A EEMEEE JgAL]
M NS EEZ2WSI |8
Rl AI2IEEHE C2EtFE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORQWSHEHH S &1
360,000,000& 360,000
= 180,000
Al 180,000
L SdlE TEAE 2,990,000 2,990,000
401 Al HIZ S 0HHI 2,990,000 2,990,000
01 AlZ28| 2,990,000 2,990,000
OSb =dl2 THAL
2,990,000,000& 2,990,000
WEAD ZE R NEAI (HEALS) 1,600,000 1,284,608 315,392
= 800,000
Al 800,000
401 Al HIZ S 0HHI 1,600,000 1,284,608 315,392
= 800,000
Al 800,000
01 A28l 1,600,000 1,280,000 320,000
OZYsgAHEl S 2L nSMD &2 =
HE AL 360,000,000 360,000
== 180,000
Al 180,000
SEMHEl S 2Ha WSAHD HE 2 N
A 380,000,000 380,000
= 190,000
Al 190,000
O=UAACl S 2004 WSAtD &2 2 K
AL 380,000,000 380,000
== 190,000
Al 190,000
OSEAHE S 244 WEALD 2 2 i
A 480,000,000 480,000
= 240,000
Al 240,000
COIES A A A (HEALY) 432,000 503,600 AT1,600
s 216,000
Al 216,000
401 AIEHIZ SR OHYI 432,000 503,600 AT71,600
< 216,000
Al 216,000
01 Al&HI 432,000 500,000 268,000
LOES Y MAHEASS
282,000,000 282,000
= 141,000
Al 141,000
OM0l Z22Y S 24 L2571 AL
e 100,000,000 100,000




A EEMEEE JgAL]
M NS EEZ2WSI |8
SRl ARIESE =2 EtE 3| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 50,000
Al 50,000
OJts1el d2E L2572 ALY
50,000,000 50,000
S 25,000
Al 25,000
SHEEE JHM A (HEALY) 2,200,000 1,000,000 1,200,000
[ 1,100,000
Al 1,100,000
401 Al HIZL 201 2,200,000 1,000,000 1,200,000
S 1,100,000
Al 1,100,000
01 Al&HI 2,200,000 800,000 1,400,000
O (=) B HEAY
2,200,000,000& 2,200,000
= 1,100,000
Al 1,100,000
00279 |RAE4AM 400,000 800,000 400,000
401 AIEHIZ SR HYI 400,000 800,000 400,000
01 Al&HI 400,000 800,000 A400,000
O0e0I257Y JHe & |FA2eA
400,000,000 400,000
2SS JHHALE 100,000 200,000 100,000
401 Al HIZ 2018 100,000 200,000 100,000
01 Al&H| 100,000 200,000 100,000
Odl2SEHMU=SX2 HoHE2S S N
&AL 100,000,000 100,000
ST =7Al2 242,947 0 242,947
309 &HES 174,667 174,667
01 SAl- SHBYHES 174,667 174,667
OAlsBRIRE SIgt g
174,667,000 174,667
404 SAEBEH = ES 68,280 68,280
01 SAt- SHAZ2HES 68,280 68,280
OAlg2elsH AS =Xl
68,280,000& 68,280
=sMNSIIBEY 535,697 2,871,103 A\2,335,406
AEH0IS LA 101,910 78,030 23,880
201 ger=3| 30,910 32,030 A1,120
01 At 2|l 27,250 28,550 21,300
OX&ENA Ol 82 cIZH HH
1002 55, 0000 *90% 4,950
OFFAIL NHENEE 22 S5
70,0002 *1007H 2 %90% 6,300




2N EZNGEE Ad€AHE N
HEH: AQIRSIHEZNE)|BIERS
€l =sMWEI|EEY (CH9: &S1)
. S[E]
M- B3 . o2 (31H) - MSAKY Ofl kot 05”55 HR=2
OXE) NENHDT LALY
80,0002 *x2003] 16,000
02 B324H| 3,660 3,480 180
ORAA XHEHHHA KHEH £=2|
3,000,000 *90% 2,700
O24A TINEHUHNWA MIIR2
40,000 x 128 *2JH A~ 960
307 CIZt0| & 50,000 28,000 22,000
05 CIZtRIEZ 50,000 28,000 22,000
ONEHUNHA & 225 29
25,000,000 x2J4 2 50,000
402 SIZHXHE0| A& 12,000 15,000 23,000
01 QIZIXIE AN E X (KA THS) 12,000 15,000 A3,000
OEIKEH 2 K&
300,000 »40H 12,000
405 KR SH| 9,000 3,000 6,000
01 IIMLZ2EFSH| 9,000 3,000 6,000
ORAA NEHUHA ANHEH 2
300, 0002 +30CH 9,000
NEHAIE SKI22IAFS 366,075 379,875 213,800
401 A& H|ILE20HH] 366,075 379,875 A 13,800
01 Al&H| 366,075 378,075 A 12,000
OXNEHEZ SK2ACIAIS
250,000,000 250,000
OXNEHEZH EAUI|AIS
20,000,000& 20,000
OXEAH 220 AXIALY
600,000« 15% 9,000
OXEH NECHMEXEH HHIAIS
200,000 *807H A~ 16,000
OXNENHEEEZ ZXY HUIAIY
100, 000& * 10000 2~ 10,000
OXA&AH BT XA
5,000,000 %1000 2 50,000
OXNEHOIZAIE SX2CIAY AALHE
o 250,000,000 *4 . 43% 11,075
NNAAHLAL S LG SHAS 1,800 2,000 A200
203 YR =XIY| 1,800 2,000 A200
03 AIZHFR AL =KIH]| 1,800 2,000 A200
O ALK 2,000,000 *90% 1,800
A2t 65,912 66,198 A286
201 LBt AY| 52,412 51,198 1,214
01 AFR22t2|H] 37,984 35,646 2,338
OEZ A= HARAHEM HIE
22,000 & *502*83| *90% 7,920




SN TRARIZS REZAY
M NS EZWSI |8
Chelr sMNSI|BES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJI=MERE Uskse UsUM M
16, 5002 *3002+90% 4,455
O==2(LI2tEH, 2HIS)
100,000 %102 1,000
O=8=3xcl F8EI ===
500,000 *2IH A+ 13l 1,000
OAHZHIRY NWEEELER
20,0003 *25% 500
OXNEAF HEE 225 1,743
(@F=F= 330,000 *42¢ A %00% 1,188
cd 154,000 *4SET*90% 555
OS82 =g
25,0003~ 122 300
OEZAY =AU SSXtE &R
900,000 «1CH* 122 10,800
o==z&e|aos Motz M
380 x230& *x25F x42] *00% 7,866
o=z aclyos A2 HAE
100,000 x 12 +23] 2,400
02 S3=gHl 14,428 15,552 A1,124
O=4gS & B T2 FAl2el| 3,462
O=4Z2 8 |A2tll
140,000« 12& 1,680
O ABAZ(0Finder) FXl2teldl
17,820,000 *10% 1,782
OZExtg 2tel 10,966
Oxtg2e|lEg s 850
-S81 S 350,000 1CH 350
SEX 2™ 500,000 1CH 500
OXt&r= Al 10,116
-SEXt 4,900, 0002 * 1CH*90f% 4,410
—-3l= it 4,300,000 *1CH*90% 3.870
RPN 2,040,000 *1CH*90% 1,836
203 HR=H| 13,500 15,000 21,500
03 A=A 2= 13,500 15,000 1,500
Odgde gy 9,000,000 *90f% 8,100
OAdatel sior & 2IEbA =8
6,000,000 *90% 5,400
sE C2Y =3 3,400,000 6,078,640 A\2,678,640
S-S E2EEESAM 300,000 400,000 100,000
401 Al HIZL S 0HYI 300,000 400,000 100,000
02 2l 300,000 400,000 100,000
O=H~Z=2 TI2EHIIIA AL AL 2]
9 300,000,000 300,000
TE~SHRE EZ2S T H I AL 200,000 200,000 0




SN TRARIZS REZAY
M NS EZWSI |8
(el =& T2 &5 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 200,000 200,000
02 Zeltl 200,000 200,000
O7E~ztet2t 2L IIJAL AL AIH 2|
9 200,000,000 200,000
S0 el Z2EEHSA 200,000 200,000 0
401 Al HIZ S OHbI 200,000 200,000
02 Zeltl 200,000 200,000
O=0| el Z2HEFSA AL AF 2t
9 200,000,000 200,000
25 HF1el TREHSA 300,000 200,000 100,000
401 AlEHIZL S0 300,000 200,000 100,000
02 Zeltl 300,000 200,000 100,000
O2s HH1el 22 LISAL ALAIH 2
clg9 300,000,000& 300,000
g4 gie| 2L TAL 300,000 200,000 100,000
401 AIEHIX R0 300,000 200,000 100,000
02 Zeltl 300,000 200,000 100,000
Odd dote] T2 T IAL AL A 22|
= 300,000,000 300,000
DI Scl S2SZEIA} 200,000 200,000
401 AlEHIZL SO 200,000 200,000
02 Zeltl 200,000 200,000
OllY Scl =2HEISAH AL AH22S
A 200,000,000 200,000
SE~EEI2E TR ELHEBAL 500,000 201,000 299,000
401 AIEHIX R0 500,000 201,000 299,000
01 A28l 500,000 201,000 299,000
OaH~&312t T2 LT AHL=0.7km)
500,000,000 500,000
CSWOXWZHES) S22 ZH A 700,000 227,000 473,000
401 A2 HIRL R 0HbI 700,000 227,000 473,000
01 Al&H| 700,000 227,000 473,000
OLsSn~AXWH(EE) C2HELFIZAHL=1.
2km) 700,000,000 700,000
I~ LA EZ2E T ITAL 700,000 1,100,000 A400,000
401 AIEHIZ SO 700,000 1,100,000 A400,000
01 Al&H| 700,000 1,100,000 400,000
OQIB~ZARE E2E I A1) ((L=1.7km)
700,000,000 700,000
HE2HAH(CZAG 2R ZEALD) 365,891 375,681 AN9,790
el 2| 312,449 309,561 2,888
eIl 312,449 309,561 2,888
101 @124H| 306,321 303,584 2,731
01 2= 248,566 244,415 4,151
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3 Al A

AN EEANEER E2AIE0
M FYTAl Y SSHOI otME E2Se A=
el FRAd FHE2Y 2| 2= (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CRANEER TZAIZL 15,960,103 19,611,374 A3,651,271
= 252,048
== 50,409
Al 15,657,646
ZATAl CHHl SSHQI otMet E2UsSe A= 15,916,266 19,552,147 A3,635,881
= 252,048
< 50,409
Al 15,613,809
TRV ZFAE2Y I 2= 11,564,000 5,115,000 6,449,000
SHSZ-2FIC E2HE (B XNERS) 900,000 0 900,000
401 Al HIZL 201 900,000 0 900,000
01 Al&H| 800,000 0 800,000
ORAS2-2EI|C =T2AS I AHL=5.0km, B=17.5m
) 800,000,000& 800,000
02 Zeltl 100,000 0 100,000
ORAS2~-2EFIC =2AE B AHL=5.0km, B=17.5m
) 100,000, 000& 100,000
H=(22-22) NI E2AHE 7,500,000 7,500,000
308 XtXIEMSO0IH 7,500,000 7,500,000
14 IIERE= 7,500,000 7,500,000
OFF(22-HY) 2cHHRIE2AHL 2
SHXR HAZ Hx LY
7,500,000, 0002 7,500,000
NEE(SZAI~EZADIR]) & 3,164,000 1,400,000 1,764,000
401 Al&2HIZ 20| 3,164,000 1,400,000 1,764,000
01 A& 2,964,000 1,000,000 1,964,000
ONSZ(HTAHZFZMH2I) = (L=1.5am
, B=35m) 2,964,000,000& 2,964,000
o2 22l 200,000 400,000 A200,000
ONSZ(HTAH-FBANEI) 2F A4
A 2te| ES 200,000,000 200,000
SHUES oAl & HEEZA 7 3,870,362 13,214,732 A9,344,370
SAA JIEHYEX 24 320,362 834,000 A513,638
201 Ler23 | 3,362 0 3,362
01 At2teltl 1,080 0 1,080
OAsHIE(SER,2XH)
300,000 *42 X[ «90fk 1,080
02 324l 2,282 0 2,282
0250Md2) 83 500,000& 12 500
O ABAZ(Dfinder) FXIE==tl
148,500& * 122 1,782
401 Al HIZ 2018 317,000 834,000 A517,000
01 Al&H| 317,000 834,000 A517,000




2A:

CEANEER E2AEL

M AT ] ASHel OHE T2DEY 7F
ol CADE SaH2l Y OETA| P (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJIHUSX ZAaH(B=12m 0l4})
300,000,002 300,000
oMM IS 242 17,000
Oy +42 400,002 152 X 6,000
ORHHI} a4z
200,000 =152 X[#27 | 2 6,000
OSJI=E 42 100, 0002+ 152 X 1,500
OIIHYBN e SISLE4R
500,000 72 X| 3,500
MEI=W 2 E28H 500,000 2,000,000 1,500,000
401 AIEHIZ SR 0HYI 500,000 2,000,000 1,500,000
01 Al&HI 500,000 2,000,000 1,500,000
OME =L 2 =2 =& (L=0.35km, B=10—25m)
500,000,002 500,000
UA~EA2 TRHEBA 1,300,000 1,300,000
401 AlEHIL 2] 1,300,000 1,300,000
01 A&l 1,300,000 1,300,000
OLM~ELA TRINALZAHL=1.6%n, B=20n)
1,300,000,000& 1,300,000
He2 SESAH2EH) 1,000,000 1,000,000
401 AIEHIZ SR OHYI 1,000,000 1,000,000
01 Al&HI 700,000 700,000
OUE2 BT AH2EA)(L=0.47km, B=12—22m)
700,000,000 700,000
02 Zeltl 300,000 0 300,000
OUEZ &I AHEH)(L=0.47km, B=12—22m)
300,000,000 300,000
EYs Sclits T2 HESAM 670,000 160,000 510,000
401 Al HIZ S OHbI 670,000 160,000 510,000
01 AlZ2H| 670,000 160,000 510,000
osgs =2lits =T2IMHA S AHL=102m, B=16m)
670,000,000 670,000
SEYZ =TSN EIEHEIIEY 80,000 80,000
401 Al HIZL 201 80,000 80,000
01 Al&H| 80,000 80,000
OBEZ SHYSA BHEEEIIE S (L=0.66km, B=
15m — 25m) 80,000,000& 80,000
T2 AlE RX2el 481,904 72,415 400,489
= 252,048
= 50,409
Al 179,447
SRMHE2)2e 41,824 52,415 210,591
201 Ler=23 | 40,024 50,415 210,391
01 At2teltl 37,721 47,622 9,901




A ESEMGER T2 ALY

HY: ZOCA (Yl HEHQ ONE TRDEY 1
2l =2 Al A2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=RML BelH42 25,706
OBANEZL 248
885,400 *30E X|*90% 23,906
OSIIEEY 248
100,000 202 X|*90% 1,800
O="Mit2e| =5+
70,0003 *25IH*90% 1,575
O=FMet & T2HEHR e =
870,000 «1CH*12& 10,440
02 S3=gHl 2,303 2,793 A490
O==Mat & C2OHE A2 XX R=
u 1,599 %10 £ *1CH» 160 +90% 2,303
203 HR=H] 1,800 2,000 A200
03 A=A R =NH] 1,800 2,000 A200
OL=2HE 2= 2,000,000 *90% 1,800
2SS SelAIAY 2] 20,000 20,000 0
201 fer23y| 20,000 20,000
02 S3=gl 20,000 20,000
OEZ XY 2elAAY R 2l
20,000,000& 20,000
CEAELH FHEH et 25 NE A 420,080 0 420,080
= 252,048
= 50,409
Al 117,623
401 AlZHIZ SO 420,080 0 420,080
= 252,048
= 50,409
Al 117,623
01 AlZH| 420,080 0 420,080
o4l 2AFH o=t 25 A&
At 420,080,000 420,080
= 252,048
= 50,409
Al 117,623
HYRHHHI(S2AIED) 43,837 59,227 215,390
J1I=28Hl 43,837 59,227 15,390
Jl=2&H] 43,837 59,227 15,390
201 el 24,517 28,627 24,110
01 At22t2lt] 23,562 27,566 4,004
OJl=gP=8BH| 450,000 x21H 9,450
o=gH| 8,000 x21H+72Lx 12 14,112
02 S3=gHl 955 1,061 2106
O™YHAFEHl = AHI 955
O=sgol 4,202,000 *1CH*8%+00% 303




SN TRARIES CRAMD
. AY2IIH(=2AIED)
s Jl=2ghl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(@F == EEXS S 9,048,000 *1CH+8+9(0% 652
202 04l 15,120 26,400 A11,280
01 =LHOHI 15,120 26,400 A11,280
O©J1=2Z2H| 20,0003 <21 +3L 12 15,120
203 =4l 4,200 4,200
MU FA2SHI LI 4,200 4,200
OJ1Z=H(2521013t) 350,000& * 122 4,200




g 8 A A

248 20lat LEeH E2AIEER 2EAEl ~ TSAEESF otd
A ZZANHER ot&
0 TAd (R orMEH HHSHH
C9l: THHZRE OHMEH 01Tt p= (12l M2
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
CRAHEF oAt 24,138,755 15,866,440 8,272,315
= 2,680,242
[ 2,805,000
= 1,350,000
Al 17,303,513
A 01 &l er&st HGHA 24,094,193 16,811,280 8,282,913
= 2,680,242
[ 2,805,000
= 1,350,000
Al 17,258,951
Mol 2RE ot&Er elZet = 16,518,674 8,725,674 7,793,000
= 2,805,000
[ 1,350,000
Al 12,363,674
L=MFAIE RR2k 127,114 144,114 A17,000
201 er2 3| 97,114 104,114 A7,000
01 At2t2lt] 5,414 4,414 1,000
OUEXIT S=MFAIE HI|orM 2| CHEH
T2 341,300 +7& 2,390
OMAXIT LI AL MI|orM 2| CHEH
St 154,600 +7& 1,083
=27 LEMFAE dIjetE2te|
et 134,400 +7E 94
OUER+=MFAIE &J1€H|l ZIIZA
1,000,000 1,000
02 S3=gHl 91,700 99,700 A8,000
OAE &8I 4,000,000 82 32,000
O0s&ER= 59,700
o&lIe=s 2,500,000& *3 04 2+7E 52,500
OSHd AME=
200,0002 304 A 123 7,200
401 AIEHIX R0 30,000 40,000 10,000
01 A28l 30,000 40,000 10,000
OfF=MFAIE 2L 10,000, 000& x32! 30,000
223 =l EXA 350,000 0 360,000
401 A2 HIRL R 0HbI 350,000 350,000
01 Al&H| 350,000 350,000
Og2d sl XA
350,000,000 350,000
LA 7 Saof M SSIHIAY 600,000 5,160,000 24,560,000
= 300,000
< 150,000
Al 150,000
401 AlEHIZL SO 600,000 5,160,000 4,560,000




A ZZANHER ot&
B KOID OfRA OHEE MoIGHA
C9l: THHZRE OHMEH 01Tt p= (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 300,000
=S 150,000
Al 150,000
01 Al 600,000 5,160,000 24,560,000
OYAF S0l d&d SSIUIAY
600,000,000 600,000
= 300,000
= 150,000
Al 150,000
g7 S+oided SESIHIAY 1,200,000 0 1,200,000
= 600,000
= 300,000
Al 300,000
401 Al HIZ S OHbI 1,200,000 0 1,200,000
[ 600,000
= 300,000
Al 300,000
01 Al&H| 1,200,000 0 1,200,000
OUIBANT 246 MER SSRYIAL
1,200,000,000& 1,200,000
[ 600,000
= 300,000
Al 300,000
AR T KA E N X+ FHIAS 2,400,000 400,000 2,000,000
[ 1,200,000
= 600,000
Al 600,000
401 AIEHIZ SO 2,400,000 400,000 2,000,000
= 1,200,000
< 600,000
Al 600,000
01 Al&H| 2,400,000 400,000 2,000,000
AN KA A E S X EHIAE
2,400,000,000& 2,400,000
= 1,200,000
[ 600,000
Al 600,000
R AT RE HE X+ EHIAS 200,000 860,000 660,000
= 100,000
[ 50,000
Al 50,000
401 AlEHIZL R0 200,000 860,000 660,000
s 100,000
s 50,000




A ZZANHER ot&
0 TAd (R orMEH HHSHH
ol TOHRSE otEE olZp & (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 50,000
01 AlZ2H| 200,000 860,000 660,000
O NMHAMMAEMNLX 7 HHIAL
200,000,000 200,000
[ 100,000
= 50,000
Al 50,000
BISA 7 NHATHHAZE LXK EBIAI 1,000,000 0 1,000,000
[ 500,000
= 250,000
Al 250,000
401 AIEHIX S0 1,000,000 0 1,000,000
[ 500,000
= 250,000
Al 250,000
01 Al&H| 1,000,000 0 1,000,000
OBIS X7 XA SIS X7 HHIAHY
1,000,000,000& 1,000,000
[ 500,000
S 250,000
Al 250,000
20t NS =9 HE ALY A=A 210,000 350,000 140,000
= 105,000
Al 105,000
401 Al HIZ S OHbI 210,000 350,000 140,000
[ 105,000
Al 105,000
01 AlZ8| 210,000 350,000 140,000
OADIE HS2ACIAAE A=A S
210,000,000 210,000
= 105,000
Al 105,000
JtSAaotd HHIAY 300,000 0 300,000
401 AIEHIX SO 300,000 300,000
01 Al&H| 300,000 300,000
OJtsAotd A 300,000,000 300,000
Aot =X EAt 300,000 1,000,000 A700,000
401 Al HIZ R 0HbI 300,000 1,000,000 A700,000
01 AlZ8| 300,000 1,000,000 A700,000
OO0t RAIE4HI 30,000,000& * 102! 300,000
Y - SHACHE HHIAY SSALAE2ACIES 300,000 300,000
401 AlEHIZL R0 300,000 300,000
02 Zeld| 300,000 300,000




A ZZANHER ot&
B KOID OfRA OHEE MoIGHA
CHol: TISIZRE OHES Q1Tp & (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odd - S0t SHIAY SSAHEAMY
2|89 300,000,000& 300,000
S22 HNOIEEZ EXISAt 9,500,000 9,500,000
401 AIEHIX R0 9,500,000 9,500,000
01 A28l 9,500,000 9,500,000
Aopti=2 HOIEBZ EXIEA
9,500,000,000& 9,500,000
SUAY B DIXSE2X 24 31,560 81,560 /50,000
201 2egh=3| 1,560 1,560 0
01 At2t2ltl 1,560 1,560 0
OFAYSEN T2 SR
130,000& «12& 1,560
401 A& HIX R0 30,000 80,000 /50,000
01 AlZH| 30,000 80,000 /50,000
20otd DIXISEX 24| 30,000
O24Hl & =8 S 30,000,000& 30,000
A DE XHAOl S&Eots dEiotE X4 970,000 879,492 90,508
HEote S2AIY AIZ2LIEHE 50,000 165,000 105,000
401 AlEHIZ SO 50,000 185,000 105,000
01 Al&HI 50,000 185,000 105,000
O4atd dEjold S2AE AIR2LIEHES
H(2RtE &) 50,000,000 50,000
=8 PHE =8 - 282 ZEAEY 120,000 120,000
401 AIEHIX S0HH 120,000 120,000
01 AlZH| 120,000 120,000
OdANEHES 120,000,000 120,000
UL 23 =3AE HEAY 60,000 0 60,000
401 Al HIZL R 0HbI 60,000 60,000
01 Al&HI 60,000 60,000
OHAEAHES 60,000,000 60,000
fad S=01F & HlE gAY 130,000 0 130,000
401 AIEHIZL S0 130,000 130,000
01 Al&H| 130,000 130,000
OAIEHES 130,000,000 130,000
Fad 22 40 AEE E2H Y8 ZXAY 500,000 500,000
401 Al HIY S CHYI 500,000 500,000
01 AlZH| 500,000 500,000
OoZZAd € T2EXYE £X
500,000,000 500,000
A LAHE ZdAMY 110,000 110,000
401 A2 HIRL 201 110,000 110,000
01 Al&HI 110,000 110,000
O&AEHEH 6,000,000 6,000




A ZZANHER ot&
0 Al (RN orMEH HHSHH
SISl ARIDH R0l BESHs MEHGHE T4 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
|| o=u4d madz =4 104,000,008 104,000
A A0l 1R s ME6Hd 28 6,605,519 6,206,114 399,405
= 2,680,242
Al 3,925,277
=Jtotd RXAIZelAt 2,594,492 3,221,000 A\626,508
= 2,594,492
201 er23 | 279,000 316,176 A37,176
= 279,000
01 At22t2l] 10,000 0 10,000
O=Jlotd 72l A28 2
2,500,000 42 10,000
= 10,000
02 s3=gHl 269,000 316,176 AN47 176
(OFEI=Sa=) 161,280
Oti=2 Ste=
140,000& »460H 2+ 123 77,280
= 77,280
Otf=2 &IIe= 7,000,000& 12 84,000
= 84,000
OA&EHIS X 107,720,000 107,720
= 107,720
401 AlZHIZ S OHbI 2,315,492 2,904,824 A589,332
= 2,315,492
01 A& 2,313,492 2,900,824 587,332
ORII5E RXB2IAY
2,313,492,000& 2,313,492
= 2,313,492
03 Al 20HHI 2,000 4,000 /2,000
O=Jlotd FAl2clAt 2,000,000& 2,000
= 2,000
ot&otT Meldl EatAte 122,500 140,000 A17,500
= 85,750
Al 36,750
401 Al HIZL 201 122,500 140,000 A17,500
= 85,750
Al 36,750
01 AlZH| 122,500 140,000 A17,500
Odtdot= X0 oAt
122,500,000 122,500
= 85,750
Al 36,750
;HE &l o™ 2el 1,520,089 1,366,943 153,146
201 Ler23 | 740,141 314,525 425,616




A ZZANHER ot&
0 AN (RN orMEH HHGHH
CHels ARRID XH0| O19RIA MEBEIA PE (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 592,573 165,998 426,575
OIA 158 AI2I2S B2 % 28
10,490, 0002 *90% 9,441
OBIEB HEIN 2 NTHAS MY
Xt 833,000& * 122 9,99%
OZHl Xtz (=401, EX)
750,0002 *50CH 37,500
orJ|tHe| H+=Z(HH, 2
s) 200,000 x110H A+ 122 26,400
OIS HIILHI HIIBAHE LS +E)
500,000 *10H A 500
Of+T ROIAHIBA 242
528,000 122 6,336
02015t 8d EaaH
1,100,000 *43] 4,400
ORUH BAMLBS: ALUB (BB
ZAH) 403,200
O8+=23 273 +80,000=*180& 388,800
OAEAEZ 12+80,000E*180& 14,400
ORHH SHANES+ AlE2elbI(E=s0
E3AH 93,000,000 93,000
ORd3 =g 1,800
OJIzactd2e|ARE =2
100,000 4 & »23] 800
O=gdd 42 10,0002 x5 x23| 1,000
02 S3=4gl 147,568 148,527 A959
OXg ==l 1,599 +BL*x2402 x90f% 2,764
OIS (XLoHA AIE2)
99,0003 *590 A+ 1200 2 70,002
OSARS(H=Z, =2, TV, d2H S
Xgotd AlEE)
72,0003 +8H A+ 1204 6,912
oudt==3 (33, S4U)
1,0002*130=+5 2% 1290 2 7,800
OGSt A2 EH| =X 24|
300,000 *2007H A 60,000
203 g4l 1,800 2,000 A200
03 A=A =] 1,800 2,000 A200
Ootd ge=d 2,000, 000& 90k 1,800
305 Bia =S 2,000 2,000
01 =S 2,000 2,000
OStEAIZ =S TMELR QIEt HiohtHa
1,000,000 *23] 2,000
401 Al HIZ R 0HHI 569,500 841,770 N272,270
01 AlZ8| 569,500 836,500 267,000
Ot R X122l At 569,500




2A: E2AIE=2F otE Dt
B KOID OfRA OHEE MoIGHA
CHels ARRID XH0| O19RIA MEBEIA PE (SHol: )
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
S EETEERED
100,000, 000& 100,000
ORlIe=AAE SX22(0A2SI? S)
50,000,000& 50,000
Odtd FXZel(stE4 FHl L |X2el)
150,000, 0002 150,000
OAEEH & 2B4(L4MZ, SHYT, b2
g 8) 200,000,000& 200,000
Odta IINEE Bx-0l(U=&, ti+=2
THAIY, A S) 20,000,000& 20,000
ORAE SLEH sAH2 (A=A, His
2, Cv S) 21,500,000& 21,500
OXYoHE AL HUUTE
28,000,000 28,000
408 XXISHHIS K20/ F 206,648 206,648
02 2D 2SI CHE K= X A AT 206,648 206,648
OtH=HIE ?()e22/(ME, S8, &Y,
A4) 51,662,000 *4IH 2~ 206,648
ofd A= FHIAIY 1,699,000 0 1,699,000
401 AIEHIZL 200 1,699,000 0 1,699,000
01 Al&HI 1,699,000 0 1,699,000
OL= 2ZZ uH(MS1, &)
350,000,000 *2JH &~ 700,000
OZ2F1tl=& dI| B4 65,000,000 65,000
o= M| 2012 wH
32,000,000& 32,000
O=d3A 2 oHI&ddz Ald
30,000,000 *107H 2= 300,000
O=% 2=& (CTV &l 134,000
OCCv &Ml =0 =&
2,000,000 *47H 2~ 8,000
OU%9l 2= oV X
14,000,000 x4 2~ 126,000
OcCIDIE ARIXI, IHEEAID| X 468,000
O&Xl X 5,000,000 =60 300,000
oz =t 6,000,000 *28JH 2~ 168,000
et IHIMS (XIS AL 666,376 545,121 121,255
307 QIZt01 A 348,102 295,500 52,602
02 QB AAIEER 348,102 295,500 52,602
OzlgtZd=g itz
320,010, 180& 320,011
OdtHd2e|(2@It2]) dstx A2 Y Uy
AtEd 11,000,000 11,000
Ootadee| Eldl e X2 A
17,090,530 17,091
401 AIEHIZL 200 215,600 151,460 64,140




SANE2F ot
A1 OR 8 M EH HHGIA
gt X0l A dgord +& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 215,600 151,460 64,140
Oodtd1el s2 & =2 FHIAY
50,000,000& 50,000
O=822] =2 HHIAML 28,000,000 28,000
OF=212| NAE HHIAE 107,600,000& 107,600
ONIE6R| B2 AIBES ALY
30,000,000& 30,000
402 2I2F X201 & 102,674 9, 161 4,513
01 QI X2 AL E A (KEHITH) 102,674 98, 161 4,513
OF 822l sIIAHFY XA
28,000,000 28,000
osg1el sIIHTEY XA
28,000,000 28,000
O&E3c| 0ISEHIAMY 29,582,660 29,583
O 43e] &l & sHESIIA 28 X2 A
17,090,530& 17,091
=SRMAH(GHA) 22l 3,062 4,050 988
201 fer= 3| 3,062 4,050 988
01 At 2|l 3,062 4,050 2988
OLNEEE ST 1502 *2,0000H*90% 270
OFg++& 608,000 »4Z X|*90% 2,189
OSIIEE =2 67,0002 * 102! XI«90f% 603
Y 2HAL(E2AI 2L ot& 1) 44,562 55,160 10,598
JlI=23sl 44,562 55,160 /10,598
Jl=&H| 44,562 55,160 /10,598
201 223 23,562 25,360 A1,798
01 AtR2t2lt] 23,562 25,360 1,798
OJ|=gdR=8EH| 450,000 =214 9,450
O=gHI(01=2HI)
8,000 x21H+72Lx 12 14,112
202 048l 16,800 25,200 A\8,400
01 2L AL 14,400 25,200 10,800
O©JI=&Hl 20,0003 x20H 32« 122 14,400
02 XN 2,400 0 2,400
O A 04| 200,000&x1E~ 128 2,400
203 HR=&H] 4,200 3,600 600
M EA2ER=AH 4,200 3,600 600
O©JIEAH(2521015t) 350,000& * 12 4,200




